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lll Semester B.Gom. Examination, October/November 2012
(Semester Scheme)

(Prior to 2012-13) (Repeaters)
COMMERCE

3.3 : Corporate Accounting - |

Max. Marks : 90Time : 3 Hours

lnstruction : Answer should be completely written either in English or
Kannada.

SECTION _ A

Answerany ten sub-questions. Each sub-question carries2 marks. (10x2=20)

1. a) What is underwriting commission ?

b) What is meant by firm underwriting ?

c) What are preference shares ?

d) What do you mean by Redemption of Preference Shares ?

e) What is CRR ?

f) What is meant by normal rate of return ?

g) Define the term Goodwill.

h) State any two reasons for valuation of shares.

i) What is super profit ?

j) How do you ascertain the'intrinsic value of shares ?

k) What is unclaimed dividend ?

l) How do you treat the following items in the companies balance sheet ?
i) Debentures
ii) Preliminary expenses
iii) Securities premium
iv) Calls-in-arrears.

P.T.O.
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SECTION * B

Answerany five of the following. Each question carriesf ive marks' (5x5=25)

satvika Ltd. issued 80,000 shares o{'Rs. 10 each at a premium of 10"/"- Mr' X

underwrites B0% of the issue, The company receives applications for75"/" of the

issue of which 40,000 applications bearthe rubber stamp of Mr' X' Underwriting

commission is 4% of the issue price. Determine the liability of Mr. X and calculate

the Underwriting Commission.

saurav Ltd. redeemed its 10,000 preference shares of Rs. 100 each at a premium

of 10%. Though the company had sufficient balance in the Reserve Fund' it

decides to make fresh issue of 6,000 equity shares of Rs. 100 each at a premium

of 25% for this PUrpose.

Pass necessarY journal entries'

4. The net profits of a business after providing for taxation, for the past five years

are Rs. 40,000, Rs.42,000, Rs.45,000, Rs.47,000 and Rs.46,000 respectively'

The capitalemployed in the business is Rs.4,00,000 on which a reasonable rate

of return of 10% is exPected'

calculate the value of goodwill of the business on the basis of 5 years purchase

of suPer Profit'

5. Following information relates to Darshan Ltd'

4,000 10% preference shares of Rs. 100 each Rs. 4,00,000

Rs.5,00,000

Rs.3,22,580

3B/o

20Yo

15%

5,000 equitY shares of Rs. 100 each

Average Profits before tax

Rate o{ tax

Transferto be made to Reserve

Normal rate of return

Ascertain the value of each equity share under Yield Method'
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6. Following particulars have been obtained from the accounts of a Company
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i) Managing Director's remuneration paid

ii) Provision for Bad Debts

iii) Provision for Taxation

iv) Depreciation written off

vi) Loss on sale of investments

vii) Preliminary expenses written off

viii) Net profits after considering the above items

v) Depreciation allowable as per Income Tax Provision 70,000

Rs.

20,000

10,000

1,50,000

80,000

50,000

20,000

4,50,000

Compute the net profit for the purpose of managerial remuneration and calculate
Managing Director's remuneration at 5"/" of net prof it.

7. From the following particulars, prepare Profit & Loss Appropriation A/c

PIL Nc balance brought forward

Net Profit before tax

(Provision for taxatio n 40%)

Transfer to Reserve Fund

The share capital consists of

Rs.

1,00,000

i) 10,000 12o/opraference shares of Rs. 100 each fully paid

i i) 10,000 equity shares of Rs. 100 each ful ly paid.

e) The Directors propose a dividend of 20% on equity shares.

What is Underwriting Commission ? What are the legal provisions relating to it ?

State the conditions laid down under Sec. 80 of the Companies Act for redemption
of preference shares.

a)

b)

c)

d)

8,75,000

1,25,000

8.

L
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SECTION _ C

Answerany three of the following. Each question carries fifteen marks. (3x15=zt5)

10. Niraj Ltd. issued 1 ,00,000 equity shares of Rs. 60 each. P, Q, R and S undenruritten
the entire issue in proportion of 40"/",30"/",20"/" and 10olo resp€ctively in
consideration of commission in cash at 4/", they also apply for firm shares as
under:
P - 3,000 Shares, Q -2,000 shares, R -2,000 shares and S -3,000 Shares.

Besides the firm applications from the underwriters, the public apply for 60,000
shares, of which marked application are as under:

P - 10,000 shares, Q - 6,000 shares, R - 8,000 shares and S - 16,000 shares.

Show the number of shares to be taken up by each of the underwriters treating :

a) Firm underwriting as marked applications, and

b) Firm underwriting as unmarked applications.

Also find out the commission payable to the underwriter.

11. Bharat Ltd. redeems its fully paid preference shares at a premium of 20o/o. For
this purpose it makes fresh issue of 5,000 equity shares of Rs. 10 e,ach at'par
and bellb its investments at a loss olSYo.On the date of redemption the Company's
Balance Sheet stood as under:

Rs.Liabilities

Equity share capital
(Rs. 10 each)

Rs. Assets

8,00,000 Fixed Assets 21,00,000

Preference Share Capital Investments 4,00,000

(Rs. 100 each fully paid) 4,00,000 Bank & Cash 2,00,000

Preference Share Capital Other Current Assets 3,00,000

(Rs. 100 each partly paid) 2,00,000

Capital Redemption Reserve 2,00,000

Securities Premium 10,000

PIL Nc 5,90,000

Liabilities 8,00,000

30,00,000 30,00,000

Pass journal entries and show the Balance Sheet after redemption.
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12. The following particulars are available in respect of the business carried on by

Nishanth Ltd.

i) ProftUs eamed : 2009* Rs' 1,00,000

2010 - Rs. 96,000

2011- Rs.  1,04,000'

ii) Profit of ?-a10 is reduced by Rs. 10,000 due to stock destroyed by fire and

profits of 2009 included a non-recurring income of Rs' 6,000'

iii) Profits of 2011 include income from investment Rs' 4,000'

iv) The stock is not insured and it is thought prudent to insure stock in future. The

insurance premium is estimated at Rs' 1,000 p'a'

v) Normal rate of return 10%.

vi) Average capitalemployed Rs. 8,00,000'

vii) Present value of annuity of one rupee for 5 years at 10% is Rs. 3'78'

You are required to calculate the value of Goodwill.

a) As per 5 years purchase of super profit'

b) As per qapitalisation of super profit'

c) As Per AnnuitY Method.

13. The following details are obtained from the books of Anil Ltd. as on 31'tMarch, 2011'

Rs.

a) Share CaPital

i) 5,000 equity shares of Rs' 10 each fully paid 50'000

ii) 5,000 equity shares of Rs. 10 each, Rs. 7.50 per share paid 37,500

iii) 5,000 equity shares ol Rs. 10 each Rs' 5 per share paid 25,000
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b) General Reserve

c) Liabilities

d) Fixed Assets

e) Current Assets

Debit

Premises

Plant

Stock on 1-4-2010

Debtors

Goodwill

Cash and Bank

-6- illffill{lllll$l||H{Hl$ffi

25,000

62,500

90,000

1,00,000

15,000
f) Nsrmal Average Profit (After tax)

g) Estimated rate of capitalisation 10%

h)TransferZo, /oofprof i tsaf ter taxtoGeneralReserve.

Calculate the value of each type of share by

A) Assets backing method and

B) Yield method'

14. Following are the balances of PQR Ltd. as at 31 -3-201 1 . You are required to

prepare Final Accounts of the company after taking additional information into

consideration:

Rs.

30,72,000

33,00,000

7,50,000

8,70,000

2,50,000

4,06,500

Gredit Rs'

Shaie Capital 40,00,000

12"/"Debentures 30,00,000

P and L A/c 2,62,504

Creditors 7,70,000

Sales 41,50,000

General Reserve 2,50,000
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7)
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Calls-in-arrears

lnterim Dividend

Purchases

Preliminary ExPenses

Wages

General ExPenses

Salaries

Bad debts

Debenture interest Paid

-7-

75,000

3,92,500

18,50,000

50,000

9,79,800

68,350

2,02,250

21,100

1,80,000

1,24,67,500
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35,000RDD on 1-4-2010

1,24,67,500

Adtlitional information :

1) Closing stock is valued at Rs. 10,50,000'

2) Depreciate Plant bY 15"/o'

3) Write off Rs.5,000 from preliminary expenses'

4) Half year debenture interest is due.

5) write off Rs.20,000 further bad debts and create new reserve for bad debts at

5% on debtors.

Transfer Rs.25,000 to General Reserve.

lgnore corporate dividend tax.
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orndoaddo dq erud{dferi w$ox'' -9e wd 4S" ad& erodded':gid'

1. a) aDoea dddd den-e aodded; ?

b) e%d $oeo ?iddn aodderb ?

c) eldrao -';'red:ddoddedr ?

d) udra d€drdd adoezdd aodded: ?

e) t^lodaod adoeCan Pq aodded: ?

f) xaQadm endd dd aodde$?

g) "te9r d$g,s" mdsmdeA'

h) de& dfae-:, dDdddd o$Dd6"ddo add odeodddl8el'

i) erud.{end aodded: ?

i) ded: erodod dfle'rrddlderi dod: bao$cDdrgd ?

k) ddcbsoo6e':-d entPod aoddedr ?

l)do&uodaadnodostE9Q"ddgdo$o-dddoddlddd:nderidoded.rilaot

sr) saod$dd:

u) agdotPd d#tb

d) ded: dgdd erQd d$e't'

d dd trot'
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oln$ooddo eccb d-d|eri w$oa. de 4*1d" ac$ eeoddedJgd. (5x5=25)

Fae,d &o$tud.rou iodoil dro. 1 0 $)e)deJo$80,000 ded:dd$ deddl 0 eeQd Cas"
; 5  a  - r  - - i - - -  - d '

eQ& mdrtu&d $oeari Dd:dai *Ead. €r {s dedd80 ddgdedoddq.'X' cot;>ddc>
$oeo dddd dnad:od. doiCr: sddd *!Gd dedd 75 ded:dsd eedri"ld$ idodr

- o A . ' ( t |

esddo?0,000 de& erdro$ C>ed X eedd /D&dD Cnde-xJd. .slDeO ?iddx Ceq+4%
dnocos ddo$ d:ed X erdd 6ilJzraoo$.1: &earog:x, oarlo dqq drogdqdd* C"a.

^r--ddd eo$ard .rozu iodo::: dd dro. 1 00 dxalzJejo$ 1 0,000 e.rd.o ded:dd$ dedd 1 0
c) o( J -.{.

erQd alFe. &ea $d: md€ad. iozsd &ocoe) sdd^ad:*ub ilrDd a;ubosrdi6 f^:'a{:r
' 

d 
w wwwvdw' ryvwv ' ^. J c- --! w\,,*,t 

^JvllJv\j!

drD. 100 $r$?JeJo$ 6,000 ;ednd, ded:ddrb dedd 25 epd d$o, -)e:.r ;;rdru&d
$oeorl dedemn ?,rdrdaq dDdgd.

elddrad:d adCo crD$do$$ zrdouo.

dorinaA rool:ooxrd dodd z.ocb;n mdd d#d acub ddrdd enddd: drdr;mh Co.4O,0OO,
dra.42,000, dro.45,000, dre. 47,000 obQ dra.46,000 sAd. *;t-go=dd0jlndnffi
uodemd dro.4,00,000. 6r oegC) anumdood 0oe$oo/ud eooiaiC)d dd10% dndo
enddd accl> ddrd dod:,od uqadd dreeJ EeEr dfJe.:rdd: dod; &racoro.

dddod iorl-gddc ddrd eo$tud.rou do:iri dozuoetud

dro. 100 *)$zido$4,000 10% es4,e dedlrlgt

dro. 1 00 $)$zjdcAr 5,000 xnCnd, wed:ddt

dori d>d ioio enrJ
"t

dorl dd

OQri drnror:ideadd (̂,

nnz{m rcnni *lrl
NU\IVWLA \JCJAJ LUI,, '

2.

3.

4.

5.

do.4,00,000

d,G.5,00,000

dto.3,22,580

38%

207o

1so/a

*9,{ a C" d o o d na dn d, de cb dd djo e, dd1 d oi*r tu a oi: o.
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6. t'od: dodpoj: ercdrleod dr dDE"e ddcbennd'

dc"d dddqddd doqrEdd

ddd: xae-:d* a:eiqr

dorirl a)eie.l)

idde driCda

ermo$ dorl uoCgo$a nd:d dddq

droado$ dnorosood dd

rydoQd dr,fdd': drldd*

20,000

10,000

1,50,000

80,000

70,000

50,000

20,000

d:eOddrriddldogee)'r'd doddd end 4'50'000

dedd,dxa*dd&rie4deD?njd&eej5%doddodpc:tao3:cd:al,d:dnoqDddobd'l
eJd, CJDa.

7. ds Eddod Dddrleod *n.J ddaecroed d:aJocdldo3nox''

dJa.

er) etrd d4, d'{d']%aSdoupd d:e-:* 1'00'000

ar) dod dPdr odd mti

(dodnon g?o;)d eQ4o%) 8'75'oo0

6) ioa3d PQri driord# 
1'25'ooo

a) dedl uodard dddoddddd: udriooad

i) do. 100 d$$rieJo3J #, ;detu&d10,000 12% udrcc decdd:

ii)do.100*)$ddc$d'earatdand:d10,000iiEdDqded:rld:.

"a)Oderdddlsadndndedlildd>eeJ20%enzpod-qroeaxroood.
8. $Oeo dddd den-g oodded: ? edd* iouoQRrd mdod: ecb*adedddlaexr.

9' ejd.gE dedrdd $&mdgrrafl dodcaor:d dds" 80 do-ap:.,d:d dd4dddle9,x.
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odndloaddo dlJacb d#ed w$o:,. ds detd" da{dr eeoddd:. (3x15=45)

1 0. oedzr eo$tud ooz.; dodo3:r dra. 1 00 dlalz3e.ioJ: 1 ,00,000 ;odrq de &ddd: nc>dd
*Ead.

"dq 
P, Q, R $*S .tou:dd$ 40o/o,3oo/o,20% ab$ 10% eed)mddO_de.4%

deroprnR dddn $oeo dnad:od. erd& €{ EddodC enr{ $oeo dddi dnacnod.

P - 3,000 ded:, Q - 2,000 ded>, R- 2,000 ded: ab$S-3,000 ded:.

d{ Oor{$oeo ddddo$ erdrdd drodrf, ;edrx&d& 60,000 de&rlernR edr
do;trocod. eddo- dJddr d"d?q ded:ddc €r ddndoed.

P - 10,000 deCc, Q - 6,000 ded:, R- 8,000 ded: dJd.? S- 1 0,000 de&.

dJa. egtrd$ drd.
.J

$oeo r/daHmdd e{d esanzroooo$d: doeoi,:d dqo$d}dddod o(go$o_:)Watu.

a) eor{ $oeo ddddo$$ drdr* *radDd erdrddod dod$xbgd

b) 0or{ $oeo ddddolrd}tu&dl *Eadd erdrddcd dodcdebqid:.

aarioS:e $oeo $dddmdori &edeD&d doe"*obQdod: e.caol:o.

1 1 . ddoo &o$.)rd.roz.r ioioll d{dOcar md8ld:d udroo ded;rldd: 20% eed djEe,r,
&eB c:dr madeiD d. dr w-dedao*n dro. 10 d dDaDsieJab 5,000 sednd, ded:ddd>
il)$ ziciri, rodrxod$oeori ddJr(d drd€d db* dqdroaddd$4s% dd$ dncne^l
drDdqd s4oc decbdd *d:aadsiDed ooaoddocb iodoJ: erqrd dgd dddodod
m *

t6AnUn0ilst)
a

nadnd, ded.: ucdaad

(de de& do.1 0) 8,00,000 t"d ol 21 ,00,000

udrao de$ uoducd droaddsb 4,00,000
({0 ded> do. 100 {oear

md9td) 4,00,000 ddc: d>d; zro^.od: 2,00,000
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eldra dedl t^':cd;rcd

(de Ae& do' 100 world:

aadex.,d;

uodaod adoezid &Q

ded: erQd dfoe':,

end-d{d:aJ

xmtnc)Oddo
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..add dd erldd:

2,00,000

2,00,000

10,000

5,90,000

8,00,000

30,oo,o0o

3,00,000

30,00,0m

urld,ad:d addo m$d t,,:dcu:o oarlo de& d:&aaded) daddd *Q"d dgd do$.ofu.

12.Ouood&oJra)daoudoiddxbdam'atddaddrld:dsddndogd'

i) eD?i deMl: 2009 dJo. 1,00,000

2010 dro. 96,000

2011 do. 1 ,04,000'

ii)20lodendgjoSobodd{amdmeedrodeodJD.l.o,000ddo*dad>cnnd$4
2009 O *q:*o-a"' 6'00;*C' *ni* er6oo$ ieodooad

ii i)201tdEnddo-do4'000doadri*odzrodEresoCrdeodooad'

iv) eOpJ:dddro 6"8S od: dnaooe'r" udd u&ndr:od 6"4& cd: dndel

odroienhd. dr douo{ am.l,rrd ar. i ,boo ddr}e$cb errlDd)dodl adroielfld'

v) na6adca endd dd - 107o'

vi) 5 ddrrlerl de' 10% dO-domomol: ud:'u: dej do' 3'78'

vii) doado uodaod dnad5 dto' 8'00'000'
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d$Hd aeadd*od *egr dioelrdndd dradJdod Odg$ dedsond.

a) ad: ddrdd *d*{*qJd aDoeo.

b) erud,,d enajd ucdas*eddm abd>'  q ) e J  '  - ,

c) udortJ DeDd.

13. erier icilDdicxcrod dr ddrrs addddd: ddcJ:enfid (31 -3-2011 docb)

a) decb arcdund:

i) dro. 10 $)$zidoJ: {per andgieo;,

5,000 odr.q ded:rld:

ii) dro. 10 *)$zJdc$ dra. 7.50 emdgde.tq

5,000 dedtrtdt

iii) dra. 10 dD$deJo$ do.5 uodeio$,

5,000 ded:r{d:

b) :od>{, op

xrd e:xldsb
a - e

rjd sr*rl$i)

g) uodao9eddeaua*ft ecoodie,rd dd 1 0%

h) dorl doddd eneJdO-2O% dd$ ;;aCnq &Qri dnoror:x,.

dr ddnd &6rdddO-;ndrE{ de&dd dFe),eddcaddlCe$ dndeJemnd.

A) uodod diEe,r, DA"d

B) erudd aOad.

f ) dorl dadd ioado aadnd. eneJ
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d)

e)

dJa.

50,000

37,500

25,000

25,000

62,500

90,000

1,00,000

15,000
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dee6

qrddm

nodd

oaqd:1 -4-2A10

msrodcb

EeEr dPe.:,

ddd: d:Q znrod:

dd zns

d;dodd wqood

eDoeO

agdozPd d{I*b

droO

;odrnq aDzd:rds;l:

dot^$

ddoendd;iae;

;ne.rdd,rld ?JA aiEdg 1 ,80,000
J C t

14. peR CIo$tud aou do{a$ Sei:*rld; ftnod 31 -3-201 1 docj: dddodod ed. dzQ$o

Ddobdddr dod dodrdx, ped; do{oi erooab eJdd dgdddrddc:noizieaahd'

dtd. cjerd

30,72,000 de$ arcdaad

33,00,000 l2%o:oodirid:

7,50,000 cnd d{d:{

8,70,000 xiod:rodd:

2,50,000 dtJoJe,S

4,06,500 xadnd, axdqr

75,000 ee$*adiEid raelderon

3,92,500 'xPede.rrl -4-2414

18,50,000

50,000

9,79,800

68,350

2,02,250

21,100

40,00,000

30,00,000

2,62,504

7,70,000

41,50,000

2,50,000

35,000

1 ,24,67,50O 1,24,67,500
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1) ero8aj: ero&S do. t 0,50,000 cod: a*EO^edodeDnd.
2) x*;aa abeei l5% dddp drforro.

3) aBdopd dr{rleoC drD. S,0OO drlC oaa.
4) edr ddr{ ^r-e-l d$rld abeOd ?rE zrD6 qd.
t' 

*il::r;x#qddoenrld m.: ooc> drrci oas 6?ril05 % ey$ eydrdnoodd

6) dra. 25,000 e{;r_dnd axdOrl dnarou, .
7) aadordeos" dorio$dioo#.


